
■ 次の立体の体積を求めましょう。

①

cm³

12cm

14cm

11cm

9cm

6cm

②

cm³

14cm

5cm

10cm
23cm

12cm

③

cm³

19cm

16cm

6cm

3cm

8cm

8cm

④

cm³

7cm

12cm

14cm

4cm

4cm

体積の求め方のくふう
年 組 名前
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■ 次の立体の体積を求めましょう。

①

cm³2106

14×9×12＝1512

6×9×11＝594

1512＋594＝2106

12cm

14cm

11cm

9cm

6cm

②

cm³4060

14×23×10＝3220

14×12×5＝840

3220＋840＝4060

14cm

5cm

10cm
23cm

12cm

③

cm³1440

16×6×19＝1824

8×6×8＝384

1824－384＝1440

19cm

16cm

6cm

3cm

8cm

8cm

④

cm³616

8×7×4＝224

4×7×14＝392

224＋392＝616

7cm

12cm

14cm

4cm

4cm

体積の求め方のくふう
年 組 名前
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